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" ENGLISH LANGUAGE took it to the person it was intend- (5) The merchant's clumsiness
[ ed for. The princess was in the gar- led to the discovery of pre-
Directions (1-10) : Read the | den. When the crow gave her the ctous stones. :
following passage carefully and an- | bag, she took it eagerly, knowing| 3. The joy of the merchant on
gwer the questions given below it, | that 1t was from the Sun. But when finding the ruby was short

Certain words are printed tn bold

to help you locate them while an-

swering some of the questions.
The Sun, while going on his

dally rounds saw a princess and.

fell in love with her. Whenever he
could slip away from the heavens
he would take human form and go
down io the princess to spend some
time with her. The princess too be-
came quite fond of him and would
walt for him to come. One day the
Sun decided to send her a blood-
red ruby as a token of his love for
her. He put the gem in a silk bag,
and calling a crow that was flying
past, asked the bird to deliver the
gem to hia beloved. Crows had
milky white feathers in those days
and it was considered auspicious
¥a erow came anywhere near you.
So the Sun was pleased that he
had found a crow to deliver the
gem. As the crow sped through the
sky with the sillken bag, the aroma
of bod lured him. Looking down
the erow saw that a wedding feast
¥as In progress, and immediately 1t
¥as distracted from its mission.
f;:ﬂwas one thing 1t could never

Alighting on a tree nearby, it
h“ﬂgthebagon a twig and went
ol to find some food. While the
‘10w was feasting, a merchant
Paseing by saw the bag on the tree,
oM knocked it down with a pole.
%hen he opened the bag and saw
s contenta he almost swooned in
ﬂlléé;uld‘ly pocketing the ruby, he
the the bag with dry cow dung
m‘ Was lying there, and then
"Pmt:y returned the bag to the
by h. It was all done so quickly

the crow miased all the action.

gi‘f having its @, it flew up to

» and picking up the bag

she saw its contents she reeled
back in shock and anger. Believing
that it was the Sun’s way of tell-

ing her that he did not care for her, |-

she flung the bag away, rushed to
her palace, and never came out
again. When the Sun leamnt of what
had happened he was furlous. So
great was his anger that when he
turned his scorching gaze on the
crow, its feathers were burned
black. Its feathers have been black
ever since. The ruby did not stay
with the man who gtole it. Tt fell
out of hiis pocket and rolled 1nto a
deep pit. Men have been trying to
dig it out ever since. Many precious
stones have been found in the pro-
cess, making Myanmar one of the
richest sources of rubies and sap-
phires, but the ruby that the Sun
sent to the princess is yet to be
founid.

1. What did the Sun send for
the princess as a token of his
Iove?

(1) He sent her the crow.

(2) He sent her dry cow dung,

(3) He sent her a red ruby.

(4)He gifted her the city of
Myanmar.

(3) None of these

2. What led to the discovery of
precious stones in Myanmar ?
(1) Humans discovered the

stones in their search for
the lost ruhy.

{2) The crow spread the news
of the lost ruby,

{(3)The princess went in
search of the lost ruby and
digcovered other precioua
stones,

{4) The merchant went (n
gearch of the ruby that fell
off hia pockst.

o~

Hived because

(1)He did not succeed in
stealing the ruby.

{2) The ruby fell out of his
pocket. .

{3) The crow returned just in
time and caught him red
handed.

(4) He soon discovered many
muore precious stones.

(5) None of these

4. How did the crow get its black
colour ?

(1} The crow was punished by

" the Sun for its clumsiness.

(2) The crow was burned black
by the scorching gaze of
the angry Sum.

(3) The crow was not consid-
ered auspicious any more.

(4] The crow was cursed by the
merchant,

{5} None of these

B. What was the crow's mission?
(1) To deliver the gift to the

princess.

(2) To attend the wedding,

(3) To make the Sun angry.

(4) To keep the princess in her
palace

(5) To protect the princess
from the harmfal Sun.

6. What message did the princess
get after opening the bag ?
(l]:hat the Sun truly loved

en

(2) That. the crow
bira. was an evil

(3) That the crow was
& joke on her. Playing

(4) Thet the Sun did not love
her anymore,

(8} That the cow dung was g

;O;m of the Sun's love for
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Directions {7-8) : Choose the
word which i3 most nearly the
SAME in meaning as the word
printed in bold as used in the pas-
sage. :

7. 'Token
(1}Symbal  (2) Insurance
{3) Slp {4) Assurance
(5) Investment

8. Deftly
(1) Skillfully (2) Blindly
(QVEagerly  (4) Rightfully
{5) Innocently
Directions (8-10): Choose the

word which is most OPPOSITE in

meaning of the word printed in
beold as used in the passage.
9. Beorching
(1) Cool (2) Heated
(3) Warm (4) Silent
{5} Composed
10. Furious

(1) Bearning  (2) Angry

(8} Forgiving (4) Calm

(5) Sulking

Dircetions (11-18): Read each
sentence to find out whether there
18 any grammatical ervor m it. The
errar, if any, will be in one part of
the sentence. The number of that
part is the answer. If there is no er-
ror, the answer is (5) i.e. ‘No Error.
{ignore the errors of punctuation,
if any.)

11. When we (1)/ reached the
shops, (2)/ we find that {3)/

were all closed.(4)/ No
Error (5)

12. Poar people {1)/ has no moen-
ey (2)/ therefore they cannot
afford (3)/ proper medical fa-
l:;:l‘hll'::ltm- {#)/ No Error (5)

18. course is for (1)/ some-
thing wh{g}ij aui:owed @/ mn
learning ut
@/ NoErrer (5) o T

14.We were surprised (1)/ that
she [;artlclpated 12}/at the
per- jormance (3)/ helq
NCPA. [4}/ No Error (3) at

18. As soom as (1)/ 1 getting
(2}/ first salary (3)/1 wn:.?lr
m}'mzr;ey 4}/ No Error (5)
Directions (16-20) : 1, these

Questions, a sentence with four
:Wards in beld type 15 given. One of

four words, given 1n bold may

be either wrongly spelt or inappro-
priate in the context of the sen-
tence. Find out the word which is
wrongly spelt or inappropriate, if
any. That word Is your answer. If
all the words, given in bald are cor-
rectly spelt and also appropriate in
the context of the sentence. select
‘All correct’ as your answer.

18. Much to everyone's surprive.
the man road the horse with
the finesse of a well trained
journey.

{11 surprise (2} road
(3) finesse (4) journey
(5) Al correct

17. The second any man, declared
his love for princess and asked
for her hand in marrage,
thousands of goblins ap-
peared to capture him and
push him over the cliff.

(1) declared (2} marrage
(3) appeared (4) cliff
{5} Al correct

18. “Are all Hving beings to be
loved and cared for?* asked
the little girl,

(1) living  {2) beings
@) loved {4) cared
(3) All correct

19. The boy lived alone with his
grandmother in a cotage be-
yvond the fields.

(1) alone {2) cotage
(3} beyond (4) ficlds
{5) All carrect

20. Thewater serged up above that
massive rocks and drenched
the old man,

(1) serged  (2) massive
(3} rocks (1) drenched
(8] All correct
Directlons (21-26) : Rear-
@), @), (C), (D), (€) and () n the
Proper sequierice to farm a
ful paragraph; then answer the
questions given below them.
Wﬁ;‘- first he got scared, hut
°2 he thought, “I have ney-
?ram ot I;Pb‘l’-‘d t:Br that is why
from my lanc:‘ get anything
[B) One day unabie to tolerate

the summer heat, h
€ went t
rest under a big banyan tree,

{C) He rushed to his village and
placed his humble offering of
milk in a bowl before the
snake.

(P) Vishnu Raman was a poor
Brahmin and a farmer. by pro-
fession.

(E} The next day when he re-
turned, he was rewarded with
a gold coin in the bowl he left
behind.

(F) Just as he was preparing to
lie dowm he saw a huge Cobra
swaying with his hood open.

21. Which of the following should
be the SECOND sentence af-

ter the rearrangement?
{1)B (2)c
@®E (4D
B}F
22, Which of the following should
be the FIRST sentence after
the t?
(A @D
@BF (4] C
BE

23. Which of the following should
be the FOURTH sentence afl-
ter the rearrangement?

(1}E 2F
3B @A
(S1D

24, Which of the follawing should

be the FIFTH sentence after

the r ent?
(UF 2) D
®cC 4B
BE

25. Which of the following should
be the SIXTH (LAST) sen-
tence after the 2
(D 2)B
@c WE !
(5)F : |
Directions (26-30) : In the fol- |

lowing passage, there are bianks. |

each of which has been numbered. |

These numbers are printed below |

the passage and against each, five |

&re suggested, one of which |

fits the blank appropriately. Find i

out the appropriate word in cach |

case.. !
Once upon a time there lived 1

& peacock and a tortoise in close i

proximity and they becasne the best

of friends. The peacock lived on &
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‘g&?ﬂ . peeon the (28)of a stream which | - 41. Find the average of the follow-
re of s the home of the tortoize. It {3} E— {4) i ing sef of scores
the a daily {271 for the peacock to 3 9 921, 231, 441, 359, 665, 525
N fafce near the stream after he had 5 (1) 899 @428
Pogp dink of water. He would i B) = b
WPro.  3peat plumage for the amuse- 7 (8) 207 (4)415
h qent of his friend. One unfortu- | 34. 20% of 250 x 120% of ? = 480 (5) None of these
€ Te. ate day. 8 bird-catcher who was (1) 14 2) 12 42. 45% of a nmumber 18 255.6,
‘dwigy,  © e (28] caught the peacock and What is 25% of that number?
h . aibe . au @1ww 5
©left g5about to take himn away to the ®) 8 (1) 182 (2) 132
gerket. The unhappy bird begged (3) 162 (4) 142
g ¢ pis captor to allow him to bid his 1.4)% - (07) (5) None of these
Cobrgy fiend the tortoise good-bye, as it | 38. aaZ+om =7 48. What is the least number (o
dPen. ool be the [20) time he would 04 +{07) be added to 4321 to make it a
shoulq g him. The bird - catcher gave in 11 11 perfect square?
¢ af. i his request and took him to the Oy~ 2 = (1) 32 (2)34
The tortolse was in tears 17 (3) 36 {4138
toace his frlend held (30}, n (5) None of these
26. ()} fence (2) brim ® 19 AT 44, What would be the compound
(Bibanks  (4) base : interest obtained on an
thould {5] outlet (5) S amount of Rs. 3,000 at the
> after 27, (1) fact (2) lifestyle 11 rate of 8 p.c.p.a. afier 2 years?
(3} phenomenon 6. 4x16x005x80=?4+59 (1) Rs. 501.50
(4} adventure {5) routine 2] Rs. 499.20
(3rounds  {4) duiy (8) 22.1 : 4) 21.1 {4) Rs. 510
hould {5) alert T ) (3) None of these
1ce af- ‘-’9-:;; ﬁt :2; last (5) 18.8 46. The owner of an electronics
ect 4] appropriate _ _ shop charges his customer
(6) justified 87, (V405 - J80) x /35 =7 999% more than the cost price.
30. (1) captive 1If & customer paid Rs, 10,980
(2} custody ) 15'[3__ (2) 80 for a DVD player, then what
hould (8) affectionately @7B@ 155 Bligary o price of the DVD
o ) ooy (5) 45 (1) Rs. 8000 (2) Rs. 8,800
88, 35% of (336 + 10.5- 360 +22.5} (3} Rs. 9,500 (4) Rs. 9,200
| NUMERICAL ABILITY =7 (3} None of these
. .3 46.17 {781 is subtracted from the
hould Directions (31 - 40} : What 1) BTO- (2) 5g square of the number, the an-
sen- &comc In place of the gquestion m S0 ﬂ;‘.)htalned is 6,460,
t? (7} In the following questions? 4 2 is the number? )
men . B @75 @4y (1) 109 @411
S hE o - —gxl(312 -61) (3) 113 “) 115
(5) gL (5) None of these
e fob %5 10 47.In an examination it is re-
anks: 1) 25 (2) 1.5 5 2 27 quired to get 40% of the aggre-
sered: (3§ “ 4 80, — of = of 5= of 2= 71 gate marks to pass. A student
belowW ® 25 o 3" 40 gets. 261 marks and is declared
2, five a 18+5x7.24 (1) 284 {2) 264 failed hy 4% marks. What are
which ' M3x6 i =145 3] 926 (4) 168 the maximum aggregate marks
i x6-138x6 (8) a atudent can get?
cach E&l‘-; }40 (2) 136 (6) 149 ) (2) 700 (2) 730
iy 6 10 D18 40, 27°% 125+ (48 + (0.5 = ' (3) 745 (41 765
M ' (128 m7 2t e (5) None of these
c:’oc:‘: +68-12)x18=272+ 7 @) 6 {4) 8 48. 4, B, and C divide an amount
o ? ) sevealntherauoof-;:ets
_—‘-ﬁ ' M‘____________ — I
=L e {(ICSE-17) |
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respectively. If an amount of
Rs. 200 is added to each of
their shares, what will be the
new respective ratio of their
shares of amount?
18:9:6 (27:9:5
(3y7:8:86 (4)8:9:7
(5) Nome of these
48. Ms. Suchi depoeits an amount
of Rs. 24,000 to cbiain a
simple interest at the rate of
14 p.c.p.e. for 8 years. What
total amount will Ms. Suchi
get at the end of 8 years?
(1) Rs. 62080 {2) Ra. 28,000
(3 Rs. 50,830 (4] Rs. 26,880
(3) None of thege
B0.The average of 5 consecutive
even numbers A, B, C, D and
E is 52. What is the product
of B & E?
(1) 2018 (2) 2988
(3) 3000 (4] 2800
(5) None of these
81. The difference batwaen 22% of
a number and 28% of the same
number is 210. What is 59% of
that number?
{1} 630 (2) 885
(8) 420 (4} 80D
(5) None of these
62, What approximate value
should come in place of the
question mark (?) in the fol-
lowing question?
A275+ 496 x (212 = ?
(1} 3795 °  (2)3800
3) 3810 (4) 3875
{5) 3995
3. A canfeen requires 112 kgs, of
z’;eatrfofl a “;I;:nk. How many
. of wheat it
69 days? Sqire for

(1} 1,204 kgs. (2) 1,401 Jeg,
B) 1,104 kgn. (4) 1,014 kgs,
{5) None of these

B84. if an amount of Rs. 41,910 1

ted equally amongst 22

persons, how much amount
would each person get?
(1) Re. 1,905 (2)Rs, 2,000
(3) Rs. 1,883 (4) Ra, 2,105
{8) Naone of thege

88. The cost of 4 cell-phones and
7 digital cameras is Rs,
1.25,627. What 15 the cost of

8 cell-phones and 14 digltal
cameras?
{1) Rs. 2,51,254
(2) Rs. 2,562,627
(3) Rs. 2.25.524
{4) Cannot be determined
(5) None of these _
Direction (58-60) : Each of
the questions below consists of a
question and two statements nun-
bered I and 11 are given below it
You have to decide whether the
data provided in the statements are
sufficfent to answer the question.
Read both the statements and :
Give angwer (1) : If the data
in Statement | alone are suf-
ficient to answer the ques-
Hon, while the data in State-
ment II alone are not suffi-
clent to answer the queation.
Give answer (2) : If the data
in Statement 1I alone are suf-
ficient to answer the gues-
tion, while the data in State.
maent | alone are not sufficient
to answer the question,
Give angwer (3) ; If the data
in Statement I alone or in
Statement I alone are suffi-
clent to answer the question.
Give answer (4) : If the data
in both the Statements I and
Il are not sufficient to answer
the question.
Glve answer (5) : If the data
in both the Statements 1 and
I together are necessary to
answer the question.
66. What is the area of the clrcle?
L. Perimeter of the cirole 15 88
Cns

H. Diameter of the circle is 28
cms,

B7. What 1s the rate of Interest?
L Simple interest accryed on
an amount of Rs. 25,000 in
two years is less than the
compound interest for the
Same period by Rs, 250,

I Stmple interest accrued in
;gem I8 equal to the prin-

89. What ia the number of trees

planted in the flelq in rows
and celumna?

L Numbes of columns ig

more than the number of rows ';:-\.l.
4, . A
I?.{ Number of trees in each ¢col- b
ummn is an even number. t
59. What is the area of the right. w
angled triangle? o
1. Height of the triangle jg 1
three-fourth of the base, (
1. Hypotenuse of the triangle {g
is b metres. (
at Is the father's present ;| 65 22
age? . ce
L Father's present age Is five (1
times the son's present age. [33
1. Five years ago the fathers (5;
age was fifteen times the son's .
age that time. I Ri
Directions (61-65) : Study the
following table and answer the given 66, Hi
questions. te
Number of bangles sold by 8 B¢
stores during 8 months . prif
Months Stores th
P @ R 5 T ba
May 154 129 87 89 165 ha
June 121 120 145. 89 172 En
July 145 88 105 133 104 (1)
August 169 102 130 115 158 3
September 128 177 94 220 131 (5)
61. Out of the total nurmber of 67. wt
bangles sold by store R in the
June, July and August to- Z 2
gether, 35% were made of gold, W
What was the total number of U1
gold bangles sold by atore Rin {1
June, July and Angust to- (3)
gether? (5):
(1) 127 (2 139 68, I .
3 121 4} 145 Mri
{5) 133 top
62, What is the difference between fron
the total number of bangles Tan]
suldbystoreSinJunemld[ ul 5
July together and total num- Roh
ber of bangles sold by store P | 1)<
in the same months together? 3) 1
) 72 (2) s8 ! )¢
(3) a4 4 & - N
(5 62 : glis}
G3. What is the average number of with
bangles sold by stores @, R : afl ¢
and Tin May? cach
(1} 131 2y 1nr Hn
{8) 127 {4} 135 I! {8) %
(8] 128 ' B) n
K
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89 165
- 89 172
¢ 133 104
+ 115 158

220 131
mumber of
store R In
wugust to-
ade of gold-
number of
y store Rin
mgust to-

(38
(45

ca betweel!
of bangles
June an

total nu
by store P
s togeth

B

E- )

:number
tores G

117
135

y/

86, How many such pairs of let-
ters are there in the word 'La-
BOUR each of which has as
fhany letters between them'in
the word (in both forward and
backward directions) as they
have between them in the
English alphabetical series ?
{1) None (2) One
(3} Two {4) Three
{5) More than three

67. What should come next in
the letier serles given below ?
{_Z_YZ,YX.ZYKWZYX
WVZYXWVUZYXWYV
UTZYXWVUT
(mu @2z
@R 4T
{9) None of these

88. In a class of 20 students,
Mrdnl's rank s 12th frorn the
top and Veena's vank is 17th
from the bottom. If Rohan's
Yank is exactly between Mrid-
W and Veenna' rank, what is
Rohan's rank from the top ?
(1) oth (2) 8th
() 10th {4) 7th
(8) Cannot be determined

* How many meaningful En-
glish words can be formed
Vith the letters ‘EWF' vsing

the letters only once in
tach word 7

(2) One

(4) Three

B) More than three

both J and ©. Only one person sits
bebween'J and L. M sits second to
the left of P. P is not an Inunediate
neighbour of O, Only one person
siis between M and N,

71. Which of the following repre-
sents the people who sit exact-
ly between L and N when
counted from the right hand
side of the N?
(1} JK
3 or
(51 M@

72. What is F's position with re-
spect to the one who is to the
irmediate left of Q7
(1) Second to the right
(2} Fourth to the leit
3] Thixd to the right
(4) Second to the left
(5) Third to the left

73. How many persons are sithng
between O and P when count-
ed from the clockwise direction
stariing from P?

(1) Four
(2) More than four
(3) One (4) Three

© [8) Two

74. Which of the following 1s true
regarding Q as per the given
arTangement?

(1) Only three persona sit be-
tween @ and P.

{2) M sits second to the left
oi‘ Q)

(3) None of the given options
is true.

2) 09
(4) KM

iy i PRI -
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o mistt;le rtets tal ﬂ?o'he' 79. Four of the following fi {4} Q is an immediate neigh--
e eld b 'lm““"é i alike tn a certajnng v ar; bour of both P and J.
baﬂgu‘fss; :ﬂg,sfes dand i henee form a grou mor (5} One of the immediate
o cro( bangles alr(,?l - the following dm%ot belon neighbours of @ sits to the
“mlbertorw to etl'::- i byslhe to that group ? & immediate right of L.
ﬁl:e; ¢ e (1) Tyre (2) Speed 75. Whe 1s sitting to the immedi-
() 2:13 (27:9 3) Clutch  (4) Brake ate right of 0? .
@ 11713 (B9:11 (5) Gear (1) M @ N
8 7:11 ! Dheegrona (71-78) : Study the g ; t4)
6 m%e:nmgéf wﬁ:ltd by answer gthe mu:zgﬁlziﬁ Directions (76-80) : In each
cent from June to Septemg::n; below : of the questions below, two state-
1238 (2) 45 Eight persons —J, K, L, M, N, [ ments are given followed by two
® (4) 47 O.Pand O — are sltu;ug around a | conclusions numbered I and 1. You
(3) 10 475 circular table facing the centre with | have to take the two statements to
©) 4.5 equal distance between each other | be true even if they seem to be at
REASONING ABILITY but not necessarily In the same or- | variance from the commonly known
der. Kis an immed{ate neighbour of | facts and then decide which of the

given concluslons logically follows
from the given statements disre-
garding commenly known facts.

Give answer {1) if only con-
clusion I follows.

Give answer (2) if only con-
clusion H follows.

Give answer (3} if either
conelusion I or conclustan I fol-
lows

Give answer (4) If neither
conciusion I nor conclusion I fal-
lows.

Give answer (5) if hoth con-
clusions I and H follow.

76. Statements :

Al tents are eahins.

All cabins are houses,

Conclnglong ;

L All tents are houses.

L. All houses are tents.

77. Statements ;

All watches are shoes.

Sorne watches are rings.

Conclusions :

I. Some rings are shoes,

I. All rings are shoes.

78, Statements ;

All purses are strings.

No string is a basket.

Conclusions :

I No purse Is a basket.

Il. At least some purses are
baskets.

75. Statemenis ;
Some weathers are rains,
Some summers are weathers,
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is shown in the!
left different elemtents o
Conclusions ; (2) Third to the statements. These staternents o]
I. Atleast some summers are g; %ﬁ“&ﬁ;ﬁ followed by two cong;:?;ons.
rains, Give answer (1) if only cq,
II. At least some weathers are [5) None of these clusion I follows. :
Summers, Directions (86-90) : In each Give answer (2) if only cop,_
80. Statements : question below 1s given a group of clusion H follows.
Some glasses are tablets. numbers/symbols/followed by five Give answer (3) if either ooy,

All machines are tahlets,
Conclusions :
L. All tablets being machines
18 a poasibility.
II. All machines being glass-
es 18 a possibility.
Dirsctions (81-8%) : Study
the following information to answer
the given questions ;
Seven friends—a, B, C, D, E,
F and G are sitting tn a straight
line facing north, not necessartly in
the same order. E sits fourth to the
left of G. Nelther E nor G sits at
the extreme ends. A sits third to
the right of D. C siis fourth to the
left of F. C does not sit at one of
the extreme ends.
81. Which of the foll repre-
sents the friends sitting at
the exireme ends of the line?
(1)B. A @)D, C
BIA.F 48D F
{5} None of these |
82. Who sits exactly in the mid-
dle of the row?
a)B 26
8)c (4) D
(5) None of these
830 FUU.T of the fo]lowjng ﬂlfe are
altke in a certain way based
on their seaiing positions in
the above arrangernent and so
form @ group, Which 1s the
one that daes not be!ong to
‘the group?

(1) Ac (2} GB
(3 FG (4)BA
(6) DE "

84. If all the seven friends are
made {o sit in_alphabetica]
order from left to right, the
positions of how- 'many wij|

combinations of lefter codes num-
bered (1), (2), (3). {4) and (5). You
have to find out which of the comn-
binations correctly represents the
group of numbers / symbals based
on the following coding system and
the conditions and mark the num-
ber of that combinaton as your

ANSWET,
ol 1)+[8($
Laiter
e ool e ol
Conditions H
{) If the first element is a sym-
bol and the last element is a
number, then the codes for
both are to be interchanged.
(1) X both the first and Jast ele-
ments are symbols, then the
last element is to be coded as
the cade for the first element,
(i3} If the group of elements con-

tains only one symbol, then
that symbol is to be coded as
A

88. 95&2&47_
{1} LDJPXS (2) SUDPXL

! ?3!&6 's's

[
[
X

(1) DASFRP (o) PZSAXD

remain u

(1) Four (2) Three
(3) Cne (4 Two
(5) None

88. What is B'g position with re-
spectto £ 9

®) DZSFXP  (4) pzsFXP
&) PZSFXD

Dirsctions (91-95) - 1, these

(1) Second to the right

Questiong, relationships between

the following arrangement carefisl-
(@) SIDXPL  (4) LJDPXS Iy and ansmfer the qﬁe:é‘;m gtvgln
o g; SDJPXL below :
- @4153+ )
G48BOVS2Kx3 a
(;} TXQNHT (2) ZOXNHZ |, XR7Y9Q#PD %‘E @LE“:%!
: JTOXNHT (4} ZXQNHT | 96, How wany alphabet are there
5) ZXQNHZ in the given arrangement each
88, 456314 ofwhich is Imrnediately preced-
(1) ANWHOX (2) XNWHQK ed by 2 number as well as im-
(3) XNWHOA (4) XvHWQA mediately followed by a sym-
(5) KNWHQX bol ?
80. 34+564] {”"‘W (2) Three
(1) HINWXQ (2) QaNwXN: 3) Four
(3) HANKWQ (4) HANWXQ ) More than four
(8) QTNWXII (5) Ome -

clusion 1 or conclusion H follows,

Give answer (4) if neithe,
conclusion I nor conclusion 1 fg).
lows.

Give answer (5} if both ooy

chesions I and I follow.

91, Statement :
A»L=T<R<H>K
Conclusions :1. H>L

o0 K>T

92, Statement :
FsCxVeZ<X=U
Conclusions :I. V<U

I Z<F

93, Statement :
R=S2Y>M<W>0
Conclusions :1. Y<M

0 O > 8

24, Statement :
Q<E<I>N=R>S
Conclugions ;. E> S

_ Hn.S<N
8. Statement :

P3N>D2G<B_¢_J
Conclmeions :1. G < P

mLG<J
Directions (96-100) : Study

to the right of the cighteenth

from the right end oftheglvtﬂi
arrangernent ? !
me (2} {
(& 49 :
38y

// [ 3/8/8/2 (23 3Telalelalels 2 TeTele e emlnlnl T T il

w2



© e of the following five axe

Look £t the sentence
He didn't participate in the
diacussion. .

18, {2) Here, Past Stmple i.e. I g
my ..... should be used.

16. (2) Ride (Verb) = to sit on a
horse ete. and control it as it
MOVES.

Ride = Rode (Past) = Ridden
(Past Participle}

Hence, rode should be used
here. -

17. (2) The correct spelling is : mar-

" riage.
19‘. (2) The correct spelling is : cot-

tage.

20. (1) Surge (Verb) = to move
quickly and with force in a
particular direction; io sud-
denly increase.

21.(1)B 22,(2) D

23. (A 24.(3) C

26. (4 E 28. (3) banks
27! (9 routine 28. (1) prowl
29, (2) last 80. {1) captive

1
31. (3) 1}?2_ 475 = E {961 - 81)
+25

=r 22_475

e
2 =4.D

®-4.7524.5%4.5
=20.25
= P =20.25+4.75 = 25

=??=.JE =5

. ‘ 1
8 x 800 x 2—5 =

Frem PR TR, ;

s, Four
B ein acertain way based on =] EXPLANATIONS =
iheir positions in the given .
mth ngement and hence form ; g’l He sent her a red ruby.
»({1) Humans discovered the
a group. Which one does not to
to that group ? 8tones In their search for the
g R S S roat ruby.
m 8. (2) The rub '
(3) PRC% {4) YDOP byl ruby fell out of his
(5)GVBS 4. (2) The crow was burned black
g9, Ir all the symbols are deleted by the scorching gaze of the
from the given arrangement, angry Sumn,
which of the following wili be | 8. (1) To deliver the gift to the
the thirteenth from the right Priricess.
end ? 6, (4) That the Sun did not love
(m7 2)w her anyrrore.
@ X {4) 3 7. (1) The meaning of the word
B M Token [Noun) as used in the
[W.WCh one of the fDﬂOWhlngI passage is : something that
come next in the given se- is a symbol of a feeling, a
fact, an event ; expression;
quence ? marlk.
GB4 6@" VKS %#D SML ¢ Look at the sentence :
(1 Q79 (@) exy Please accept this gift as a to-
(3) 9RY (4 R ken of our gratitude.
() YXR 8. (1) The meaning of the word
. Deftly (Adverb} as used in
g ANSWERS E the passage is : skilfully and

18] 2] s @] 4D quickly.

)| 6@l 7m[ & Look at the sentence :

.| 10.(6) | 12.(3)] 32.©) ety oo & tawel which he
13 E}I 14.(3) | 16. (2} | 16.{2) 9. (1) The meaning of the word
17.12)] 18./5) | 19.(2) | 20. (1) Scorching (Adjective) as
M| 22.(2) | 23.(4) | 24.(3) used in the passage Is : very

1 25041 26.(3) | 27.(5) | 28. (1) hot, baking Its antonym

| 2.0 so. | 1. @] 92. (9 10 ;E";‘_ld be cool, ¢ the word

39| sa - _ . e meaning of the w

..8.;_@ {5) | 95.19{ 36.(2) Purious (Adjective) as

| 37.(31| 88.(2) | s0.(1)] 40.(4) in th used

my € passage Is very angry. -
9| 42.00) | 43.65)] 44. () Look at the gent: :

L@ 46.050] 97.6 ] 28.(9) - e

mo . 2 ; He was absolutely Ririous at

%] s0.(4) | 81. 29[ 52. 2 having been deceived.
2O 540 |55, () | 56. 03 Its antonym should be calm.
3.(3] 58.(4)| 80.(5)] 80.(5 || 11.(3) The sentence shows past

'i’.‘.{.@___@- (8 | 63.(3) | 64. {2 tishe. Hence. we found that
::(41 66,(3 | 67.15] 66. 2 l{iar:t Stmple] should be used
@1 70, .(6) | 72. .
“?Eﬁ]“‘— @716 @ 12. (2} Here, the subject (poor
74.(3) | 78. @] 76. (1
‘17‘.!!!_ 7e.) | 79 &0, @) people) 1a plural. Hence, have
Iy -(2) | 80. no meoney (Plural Verb)
"&m...__azv (5 | 83 5} | 84. (3} should be uaed.
‘55-'31__9;";(21 .87.(5) | 88.(3) 183, (2) Here, sormeone who is in-
el 80,6y o1 (1) [ 02 (1) terested ..... should be used.
*;’le___.ge. 2 | 98.(5) ] e8. {2} 14, (3) Here, in the performanc-
O v8.(a) 98, (2) 100, (3} €9 .... should be used.

32. 3]

16+5x-?—
———-——2—4_. = 1.45
6(143 =135)

18+5x-?—

e 24 -,
Gx5 13

?
=16+5x o= =1.45x 30
=43.5
?
=5x 3¢ = 43.5- 16=27,5.

_ 275x24

=? 5 =132

'm




CTICE SET-OI
MODBLPRAGTICE SET-01 ‘l__—’___—_——__”f’—f_—gﬁl MODEL PRA!

33. (3} [—2‘12] % 18 =72 + 72

72
=9(21-12}x18=';§

= Ox18xP=72

2 _4
=¥=9x18 "9

?-F-E
==q{9 "8

20x 250
100

50x6x?
5
= 60 x? =480

1207

x 00 - 380

34. )

=480

== a8

60

42 ~07
3. @)= qq7 07

1096 - 007
=198 +0.7

126 126 9
“ 266 - 266 _ 19
86, (2)4 % 1.6 x0.05x80
=7+5.9
= 25.6=7?+59
= ?7=25.68-59=19.7

37. (3)7 = (405 - V&0) x /25
= {/8x9x5 - A% 4x5)
x J3x3x5
= (85 -448) x 35
5 x3J6 =76

36 (336 _ 360
38. 2)?= 150 [105 'Eﬁ]

= J06 1
28

35 3
= o0 X8 =5 =55

5227

89.[1)9 — — X? =71

- "71=&?=4x71 =284
20. (4) 27’ x 125 + (48 + (0.5}
:3?

48
= @32 x (2* 3P + (-655-]

=37
=88 x28x3%+ 1928
33*3x25 3?

=1,z

]
=9%-=3?.—.¢3?=3°==?=8

41. (3) Average score
921 + 231 + 441 +359 + 666 +5Z5
=
G

=;2“§2~-4o7,

42, (4) Let the number be x.

A5

aXX 17.'6 = 2555

255.6 %100
45

~ Required answer

25
-568:: 100—142

43.(5) s | 4321165
48

125 721
§25
. o1 06
. Clearly, 652 < 4321 < 662
= 65° < 4321 < 4356
~ Required number
= 4356 - 49321 = 35
BT
*‘Erﬁ)

= 3000 (14--—‘3—]}l = 3000 [1+£]2

= X= =568

4. (2) Amount = P [1

100 )

27 27
=3000% —X—=
%35 35 Ra, 3499.20

# C. = Rs. (3499.20-3000)
= Ra. 489,20
48. (5) CP of DVD player

100

100 10980 = Rs. 2000
= 122

46. (5) Let the number be X,
According to the question,
»# - 782 = 6460

=2= 6460-!-6084:.\:'-’:-; 12544

=X "12544 =112

47.(5) The student gets 49 less
than 40%.
Cleatly,

389 of total marks = 261
261 x100
= Total marks = -——a?—
48, (4) Ratio of the amounts re-
ceived by A, Band C
=7:8:8
Smnoftheratios=7+s+s
=21
Sum recetved by :

A gix4200=Rs. 1400

=725

f

B -28—1x42w=Rs. 1600

c- -z‘ilxa;zoo: Rs. 1200

On adding Rs. 200 te the
share of each one, the required
ratio
a 1600 : 1800 : 1400
=8:9:7
+ 24000x8x14
49.(3) 8.1 = 100
= Rs. 26880
& Total amount
= Rs, (24000 + 26880) = Rs. 50880
50.(4) Let the five consecutlve
even numbers be x, x + 2. Xt
4, x+ 6 and x + 8 respeciively
According to the question.
x+x+2+xedrx+H+xt
8
=5 %52 = Sx+ 20 =260
= Bx

240
=260 - 20 = x= —5——43

LBux+2=48+2=50

E=mx+8=48+8=256

» B x E = 50 x 56 = 26800
61. {2) Let the number be x

Difference of percentage

= TOO_QS)KSP

=42 -28 = 14%

=

g2. (2]

[
1

(3]
for

63.

da

64
54.(1]

56.{1)

gll;.

86.(3)

F-rgypedle

B57.(3)
1)

l
H
H
¥
i

/.ﬂ 7 74 - 3
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| MODEL PRACTICE SET-01

M. ; # ecording to the question,
'009 " Aeoor, 210100 - 2 _ 250x10000 62. [3) Required difference
X —— = 1500 RateR = =220 _100 ={121 + 145) - (80 + 133)
SXS T g 25000
don _ =266 - 222 = 44
' . aRequired answer 5 :"’ Rate = /100 <10 % p.a. 63. (3) Required average
» (4] The dat
=1 . 59 - ata given in both 129+ 87 + 1685
2544 = ﬁ"lsﬂo 885 statements aye Inadeguate. = 3
7= 4275 + 496 x 212 59. (5) From statements [ and 11
1% legg #) Let the base of the triangle l;e 981
s xmetes. =75 =127
x ST o6 ax 64, (2) Required ratio
1 4275% 441 * Height = =X mater = (115 + 158) : (220 + 131)
) - = 4 =273:351
! 7og 495 7:9
- o 2 0 =7
5.8 K Reqﬂ‘f;l:;t of wheat JBase +Height® = Hypot- | g (4) Percentage increase
1itg re. for dﬂys enuse -
 Requirement of wheat for | = 1772120 100
! 112 2 120
= 3x
8+ day 7kg = +[T] ‘5-‘-?’3(2-}21%2-: 5700
The requirement of wheat for ’ = 720 =47.5
112 2 2
69days = ==x69 = 1104 16x“ + 9x _ 25%2_
Y 7 ke 'ﬂ 16 Ve 5|eamiz 1 % 15 o 18
8.(1) Amount received by each L A B O U R
41910 Sx 4x5 ,
)  —— = = = —_— .
= ~2-— =Rs. 1905 4 = X=Tg 67.(5) 2, ZY, ZYX, ZYXW,
8.(1} »+ 4 cell phones + 7 cam- -« Base = 4 meter ZYXWV, ZYXWYU,
) e Bxd ZYXWVUT,
=Rs, 125627 and height = ——= 3 reter ZYXWVUT [§)
y the = Beell phones + 14 cameras 4 —— 31%th )
uired ;51!;-%4 (2 x 125627) = Rs. * Area of right angled triangle | 68, (2) MVINMRINM 8 Students
¥.9) From statement I, = -;- X4x3 = g m? Vez"é‘a'j ;a‘“l‘ f’l‘:}’lthe top
= - + 1=
of =
= 2= 88 e cirele = 88 cm 60. (5) From statement I, Thereforf‘-- Rohan’s rank from
Thus we can find out r (ra- Let the present age of son the top = L2+ 4 _ 8th
dius} and hence area of the = xyeaws : 2
trcle by using the formula nr2. ». Present age of father 69, (2) Meaningful Word = FEw
From statement 11, =5x years - +(2) Except speed, all others are
)gsg Diameter of circle = 28 cm From statements ¢ and II, 1 ':‘I;gerent parts of automobile.
'Y® % Radius = 14 om 5x-5 = 15 (x~5) - ~79) :
ely. Fmﬂm of clrele = n/2 = B2~ 5= 15x—'75
gy o i Tequired area, = 16x-Bx=75-5
X F ) From statement II, .
uff'mﬂ?ﬂ-x,;h:llmt_er- = 10x=70= x= 7= =7
& +o XXRatex10  Father's present age =5 x 7
S Rate = 100 1y o 61. {5)Total number of hangles
rom Statemenih? ' sold by store R'in June, July
. and August together
- Mineipgy , Differencex (100)2 =145 + 106 + 180 = 380
{Rate)? *« Number of golden bangles v M
25000 o —20% 11002 380 x 35 tt_rween N and L when counteq
.. (Ratey = oo 1% N, e Tight hand side of the
= ’



I_____________—____——————___—'-—_——————‘__———_” Monﬂmmm—m
MODEL PRACTICE SET-01 | ——

72. (2)N is to the immediate leRt
of Q.

P i3 cither fourth to the left or
fourth to the right of N.

73. (L, M, Q and N are sitting
between P and O when count-
ed In the clockwise direction
starting from P.

74. (3) Efther two or four persons
it between @ and P.

M sits to the immediate right
of Q.
Q 1s an immediate neighbour
of both M and N,
M 18 an immediate nelghbour
of Q. M sits to the immediate
left of L. ’
75. (4)N is sitting to the immedi-
ate right of Q.
(768-80):
() Al tents are cabins = Uni-
versal Affirmative (A-type).
{1) Some watches are rings =
Particular Affirmative
(I-typel.
(itf) No string is a basket. =
Universal Negative (E-type).
{tv] Some strings are not bas-
kets = Particular Negative
(O type). :
78. (1) AH tents are cabins,

All cabing are houses.

A ¥ A = A-type of Conclu-
gion

“All tents ara houses.”
This ia Conctuston 1.

77 (1) Some rings ave watches.

Allwa are shoes,

I+ A= [-type of Conclusion
“Some rings are shoes.”
This {3 Conclusion I,

786. (1) All purses are strings,

No string ig a basket,

A + BE = E-type of Conclu-
sien .

“No purse ts g basket.” -
This is Conclusion 1,

. (2} Both the Premlses arc Par-
e ﬁular Affrmative (I-type). No
Conclusion follews from the
two Particular Premiscs. Con-
clusion I is Converse of the
second Prernise,

80. (4] Al machines are tablets.

Some tablets are glasees.
A + I = No Caoncluston
{81-88):

DECAZBGFF

AAREENE

T

81.(4)D and F are sitiing at the
extreme ends of the line,

82. (5) A sits exactly in the middle
of the raw.

83. (5) Except in DE, in all others
the first person is to the imme-
diate right of the second per-
son.

84.31D E

:

b [
a o —r0

[o]

i
De—wgue—w
=
o

g
5

HANWZXGQ

Condition i) i3 applicabie,
80.(3) 2 & 7

91. (1) Couclnsions

. H>L: True

II. K > T : Not True
92. (1) Conclusions

1. V<U: True

M. Z < F: Not True
93. (4) Conclnsions

1. Y < M : Not True

. O> S Not True
04. (2) Conclusions

L. E » S : Not True

I S<N:True
85. (5) Conclusions

LG<P:Tue

I G<dJd:True
56. (2)

[Fmber | Alphabet | Symbd]
Such combinations are :

. (5)6th to the right of the I
from the right end means 124
from the right end.
12th from the right end = Y

. (4

X2 02 ,yo-l .7

P ,Fr- 2 .ol ,p
Y—**’-—;D-i-;g—-*—ul
G—XR,v_2 .5 -1,
99, (2} According to the qumtlonl
the new sequence would be

..... zxaannreorncN
]

13th from the right and

100.(3) There are two altermatin]
gerles ; 5

]

G'—!E'—)V—.ﬂ.._}a
B30,y 46 .4
415 .5 35 )

And,

529 qy 5,9

023 4 =5,lR

¢;5.,Di,y

rent

F

- Iwa,
heh
awa)
him
hexw
@/

& why

are |

dard

as [g

4/

o the 1y

h"gh]!ghea
1]
W] §
s
8 ny
Men
W
@ 5




